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1. Read the questions. Circle the correct answer.

What was the dog counting?

	 a.  cars

	 b. people

	 c. food

Why did the dog run?

	 a.  He counted one storekeeper.

	 b. He counted two cupcakes.

	 c. He counted four fish.

Why did the storekeeper look mad?

	 a.  The dog did not eat all his food.

	 b. The dog made a mess in the deli.

	 c. The dog ran away.

How many are three sandwiches and two cupcakes?

	 a.  3 + 2 = 5

	 b. 3 + 2 = 4

	 c. 3 + 2 = 6

2. Draw a picture of what you would eat in the deli.	

The Dog in the Deli
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